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1. Ax}swer aﬁy ten
- 3x10=30

(1) The time péﬁod of a simple- pendulum is

given by T= 2# ‘E—

- | 2% and g 1S increased by

- percentage error in 1. |

: (i1) Roﬁﬁd off t.hé'numbers 326425, 35'{67’.?5,. -
e URTSS e

cant digits.

L is increased by

9%, find the

| [Tufn-; over-




. (iii) Evaluate A“’ (1~ x) (I - 2}:2) (1 ~ 3)::”)

(1 4x4)] taking mterva! of difference as 2. - (xi) Prove that A3y2 _ V3Ys- Y

Unregistered

i o PDEZilla
G % . find it 2. Ans '
(iv) If n =3 141593 is Wnﬁ@n as —-, 1ind 1 S_ - wer any Sfive of the following questlons :
relatwe error. - " 'U . | 8x5=40
B se Newton s mterpolatlon form |
] . ula to
(v) With usual notatlon prove that AV = A—-V. | L evaluate sin 16° and sin. 640 from - the

following table :

(Vl) Find the polynom:lal ﬂx) 1f f(@) - . o I}
- f(l) = 3 f(3) 6 and f(5) = PDFZ|IIa U“"39|St’él‘3d 15° 25 350 45° 550 65

sin x : 0
(vu) ‘Wnte down the error furmula m Snmpmns 2588 04226 0 5736 07071 08192 o 9131 L

(11) Use Lagrange's mterpolatmn fonnula to fi t' |
a polynonnal to the f0110wmg data : |

f(x ) : 1245 33 5 9 1335
_ Hence ﬁnd f{l) and f(3)

t 3

- rd rule for the ﬁmctlon f(x) in the interval
[a, bl. Hence fi nd the error of the function

L L L

. 1+ X

| _(viil) Use Newton—Raphson formula to deduce the
| 1

. iterative formula to find Ja (111) E valuate J' ITx dx by trapezmdal rule and

- Unreglsteretktlmate error in your result. Also find the

(1x) Fmd a real root of the equatlon e ITQ!: Zil ,
' value of log(2) from your result.

correct to three decimal places by blsecthn

method computing upto third iteration. _
. _ o g {iv) Solve by Gal_l_ss elmunatnon method :

6x, - x, - x, =19
3 +4x, + X3=26
X '1'-2}{2 +6x3

d 2
(x) Solve l =y~ —)E : y(O) = 1 in the interval
[0 0 2] takmg h = 0 1 by Eulcrs method

oMA340L @ 42/MA 3401 (3)? (Turn over




| -'(v) Solve by matrlx factonzatlon method (u) ks Runge—Kutta il e fourth order t{-)
- find 0 1 02

. , PDFZ|IIa - Unreglstered Y Y( ) 7 (02);  given that
| 21{1 - X, + 3X3| - 16 L ¢ o o | a—;‘*l—y-—x,..y(o) - 2-_

(Vi) Find a real root of the equation x* — 2x . (“1) (a) Prove that L o
5§ = ( by the method of false position Cow F Y, =Y, — 030,5 y _) & 0.2.(},_3:& _- ) .- |

correct to three decimal places. PDFZ|IIa Unreglstered

(vu) -Usmg Ncwton S divided difference '- } inverse lntemolatlon fonnula :
- formula, find the nussmg value from the S . x .- 2. e, | .; 12
table: . S Jy.:._7 2 0 11

ei1 2 45 6
'y : 14 -1"5'} 5 _-—-' 9.

- (iv) Evaluate f 7 dx correct to four decimal

| - places using Slmpsons three-eighth rule
Bt Answer any three of the followmg questmns [ considering 10 sub-intervals. Also estlmate '

the error in. your. result.
- PI“’:Z3 lla - Unreglstered B

() Solve by Gauss—Seldel method :
10x+ y+ 2= 12
Coax 410y + oz =13
2x + 2y +10z=14
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(b) Compute x when y = 8 by Lagranges el



